Question Answer Marks | AOs Guidance
11 [ (D) Component of weight down the plane AG
4.7gsin60° Bl 2.1 | Award if seen
Equilibrium equation )
T =4.7g5sin60° I[—Zzﬁ 3.3 l\/lus_t be clgar tth_at 2:,9.9 N is th(te f
_ ension and not just component o
=39.889... SO T =39.9to 3 sf weight
(i) Resolve perpendicular to the slope
N is the normal reaction between plane and block B
N =4gcos25°
Bl 1.1a | Need not be evaluated here [~ 35.5]
Resolve up the slope
T-F-4gsin25°=0 M1 3:3 | Allow only sign errors
Al 1.1b | £ need not be evaluated here
onth int of slidin [z 23'3] If only values are seen used,
F_ eNpi' :45 Icols 35500 M1 3.1b | Donotallow for F <N _unless = | itmust be clear that the
HN = pxag used subsequently. FT their values. values used are friction and
_A.79sIn60°—-4gsin25° ) ot as Al 1.1b | FT (notice this answer is 0.657 if normal reaction.
4gcos25° [5] 39.9 used for T)




